Chapter 5 Solutions
1. get-request 200.100.100.11 public system.sysUpTime
get-request 200.100.100.12 public system.sysUpTime
get-request 200.100.100.13 public system.sysUpTime
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Figure for Exercise 3
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Figure for Exercise 6(a)
 



Figure for Exercise 6(b)
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Figure for Exercise 7(a)
 



Figure for Exercise 7(b)
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Figure for Exercise 8
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Figure for Exercise 9
10. T = mib-2.7.5
E = mib-2.7.5.1
E.1.1.
E.1.2
E.1.3
E.2.1
E.2.2
E.2.3

11. Reordering the table in lexicographic order, we get:


ipNetToMedia

IfIndex
IpNetToMediaPhys

Address
ipNetToMediaNet

Address
ipNetTo

MediaType

16
00000C3920AF
172.16.49.1
4

2
00000C39209D
172.16.56.1
4

25
00000C3920B4
192.168.252.15
4

9
00000C3920A6
172.16.55.1
4

12. Now we can draw the message sequence diagram.

 



Figure for Exercise 11

13. 
 



Figure for Exercise 12(a)
 



Figure for Exercise 12(b)

14. The get-request message from noc1 to noc3 looks like:



noc3 > noc1

Community = public

GetRequest

Request ID = 100

system.sysUpTime.0

udp.udpInDatagrams.0

udp.udpNoPorts.0

udp.udpInErrors.0

udp.udpOutDatagrams.0

(a) Get-Request Message from Manager-to-Agent 


The get-response message from noc3 to noc1 looks like:


noc1 > noc3

Community = public

GetResponse

Request ID = 100

system.sysUpTime.0 = 1000000

udp.udpInDatagrams.0 = 500000

udp.udpNoPorts.0 = 1000

udp.udpInErrors.0 = 5000

udp.udpOutDatagrams.0 = 300000

12. (b) Get-Response Message from Agent-to-Manager
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